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For each question from 1 to 30, four options are given. One of them is the comrect answer.
Make your choice (1,2, 3 or 4). Shade the correct oval (1,2,3 or 4) on the Optical Answer
Sheet.

1. The flowchart below shows the properties of 3 states of matter, A.BandC.

States of Matter
Does it have a NO Canitbe NO
definite shape? compressed?
YES

YES

OO

Which of the followihg represents A, B and C comeclly?

A B C
1 gas sofid - liquid - ’
(2) solid liquid - 'gas I
(3) liquid - gas . solid . |
4) solid gas ' liquid (
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2. Which of the following is NOT a matter?

(1)  Apple
(2 Wind
(3)  Sunlight

(4) Water Vapour

3. Look at the diagrams below.

Which one of the following statements is $me?

(1) Box ¥ has more mass than Box=X..

(2) Both Box X:and Box ¥ have the same mass.

(3) Boxd&has a.mass of more than 25 grams.

(4) Box.Z has the greatest mass.. « )

4, Sally wanted to use a piston to pump in 80 cm® of air into a container.
There is already 200 cm® of water in the container. The volume of the
container is 900 cm®. '

Piston Air in pump (80 cm?®)
- P /
Ezﬂ

Pump
L~ —  Container (900 cm?)

Water (200 cm®)

What will the volume of the air in the container be after Sally pumps the
air into it?

(1) 80 ecm™

(2) 700 cm® -
(3) 780 em® . -

(4) 900 cm® . « )

. Paged of 35
P4 Sc SA1 2011




5. Megan conducted an experiment using a syringe that was partly filled with
water. She covered one end of the syringe and fried to push the plunger
down. '

Push

l

Syringe Plunger

water

Which one-of the following graphs shows the correct change in the
volume of WateDin the syringe as the plunger is being pushed down?
(UN )
Lo Vol f wat
Volume offfwater oume ko aer
A -

\__

Amount of force applied at

»
>

>
»

Amount of force applied at

plunger plunger
(3) {4)
Volume of water Volume of water
Ar 1;
Amount of force applied at Amount of force applied at
plunger plunger
(
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6. Which of the following instruments shown betow can be used to measure
the mass of an object?

(1) 4 ’

® @

7. Which of the following is the correct reading for the thermometer below?

0 10 20 30 40 S50 60 70 80 S0 160 110 120

(1)52°C
(2)53°C
(3)54°C:
(4) 55 °C (

8.  Which of the following statements about heat is7are caittest?

A: Heat heips living things to keep wamm.
B: HBsfenables man and animals to see.
C: Heatis needed to'dry clothes.

D: Heatis a kind of matter.

(1)Aand B

(2)Band D -

(3)Aand C

(4 Cand D : (
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10.

Basin

A few boys carried out an experiment to compare the temperature of air in
the open and under the shade of a tree. They took 2 identical
thermometers, placed 1 in the Sun for 10 minutes and the other in the
shade for 15 minutes. They had not done a fair test because '

A: they used similar thermometers
B: the thermometers were placed in different places .

C: the duration of time for each experiment was different:

(1) C only

(2) Aand B only

(3) B and C only

(4) A, BandC (

Two beakers, P and Q, contained the same amount of water at different
temperatures. Both containers were then lowered into a basin of water
that has a temperature of 30°C at the same time as shown below.

~ Container P ( W Container Q {

Which of the following correctly describes the temperature of both
containers after 5 minutes?

Temperature of water in beaker |Temperature of -@tér in beaker
1) Increase Detrease .
(2) Decrease . Increase
3) Decrease - ' - Remain the same
4) Remain the same’ | Increase - A
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11. A, B, C and D are blobs of wax on a piece of metal that is bent into the
shape of a rectangle, as shown in the diagram below.

D P. A
. W
metal —1—
S
pxd
R C

When a certain part of the metal is heated, the biobs of wax melted in the
order of-@=B Biand‘then-A.
At which point, P, Q, R or S is the metat heated?

(np
2Q
(3R
(4)S

12. The diagram below shows four containers, A, B, C-and D, that have
different amounts of water with different temperatures.

B c
somi  8omi 30 mi
85 °C 25°C Ag5°c

Arrange the containers that contain the mest‘famwmﬁ:reata@ﬂhmeast,
-.amaantwﬁ&:eat.

(1) A, B, Cand D.
(2) A, C, B andb:
(3)A, B, D and C.
(4) A, C,Dand B.
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13. Jeremy placed a test tube of tap water into a beaker of crushed ice as
shown in the diagram below.

} - é// test tube

beaker *_'_;,--—-"

tab water

crushed ice %

He used a themmometer {o measure the temperature of tap water over a
period of time. He then drew a line graph to show the change in the
temperature of the water for 30 minutes.

Temperature
(°C) T

1004~ _ Linex
~

30

¢ vt 2 s — Y ) mmmr 4 ¢ A A v e s h et S cmm w e w—— &

0
Time (mins)

Which one of the above line graphs shows the change in temperature of
water correctly? '

(1) Line A
(2) Line B
(3) LineC
(4) LineD o ( )
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14. Kenii prepared three basins of water, X, Y and Z at different températures
for an experiment. He dipped his right hand into Basin X and his left hand
into Basin Z as shown below.

Right hand

Basin X

BasinY Basin Z

Two minutes later he dipped both of his hands into Basin Y. He found that
the water in Basin Y felt warm to his right hand but felt cold to his left

hand.

Which of the following shows the most likeiy temperature for water in

basins X, Yand Z? .

x | v | z
(1)
50°C | 30°C | 10°C
X | v | z
e
10°C, | 30°C_| 50°C
X | v | z
©)
10°C | 50°C | 30°C
x| v | z
@ e .
50°C | 10°C | 30°C-

P4 Sc SA1 2011
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15. Christine has 4 cups made of 4 different materials, A, B, C and D. The
cups are of the same size and thickness. She put an equal amount of ice
cubes into each cup.

Then, Christine placed all the cupsinte a plastic-:container-of hot water as

shown below.
Oifp -' - Cup ) Cup Cup
-made-of made of . ‘made of . made of
-matirial material material material

| Elasﬁc Container

Hot water

fce cubes

Christine recorded the time taken for the ice cubes to melt completely in
each cup in the graph below.

Time taken |
for the ice
cubes to
melt
completely
{min)

AMaterial of

A B C D

Timothy saw the results from Christine's experiment shown above anf he
wanted to choose one of the materials to make a pot for cooking. ch
material should he use?

(1) A
(2B
(3)ec
40 , ( )
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16. As Matthew was driving, he.looked at the rearview mirror and noticed that
an ambulance was behind him.

What would Matthew have seen if he had;turned: his-head and looked at
the words on the ambutance directly?

AMBULANCE

(1)

IDUAIUEMA

(2)

ADONVINGWV

(€]

YWBNIVUCE

)

-,
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17. The diagram below shows two pieces of wood of different shapes.

6cm 6cm _

_

)
——

7cm ' 12cm

The two pieces of wood are glued together and placed between a forch
and a screen as shown below.

Two pieces
of wood

glued screen
together

torch

Which one of the following shadow(s) is/are possible to be formed?

A) . ) A B)

C) ‘ D)

1) AandBonly - 2) . Cand D only
3) A, BandD.only : 4) A B, CandD
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18. Jack is reading his email from a laptop as shown in the picture below.

Which of the foliowing correctly shows how light travels to enable him to
read his email?

®3)
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18. Ted measured the length of the shadow of a lamppost as shown in the

diagram below.

length {m}

He recorded the length of the shadow at different times of a day and

plotted a graph of his results. Which of the following options shows the

graph he plotted?

t) 1 IR v |
Length of
shadow

>

8am 12noon 4pm
Time

(3} 4 (4}

lengthof |.
shadow

[  { e

8am 12ncon 4 pm
Tame
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20.

Three sheets of different materials T, U and V, were arranged in front of a

torch as shown in the diagram below.

]

When the torch was switched on, a small bright circular patch was seen’ '

/

T

/

.
UA.

JEN

on sheet T only. Which of the following options best describes the
materials T, U and V are made from?

Sheet T Sheet U Sheet V
1) | Wood Clear plastic Wood
(2) | Cardboard Wood Cardboard
(3) | Clearglass Clear.glass Clearglass .
(4) | Clear Plastic Cardboard Tracing paper - (

21. The diagram below shows a table placed next to a wall. The wall has4
tubes, A, B, C and D, built into it.

€78
Through which tubes will a person be able to see the table?

1) AandB [2) CandD ]
3) B,CandD 4) AB,CandD _ (
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22. Adam and Ben were walking pass a shop selling soft foys as shown in the
picture below. They were able to see the soft toys behind the window and
their own reflection in the window at the same time.

Soft Toy Reflections of
Adam and Ben

They are able to do so because the glass window

A. allows light to pass through. -

“theic
B. reflects some light into kis eyes.

C. does not allow light to pass through.

1) Aonly ' 2) AandBonly
3) AandConly 4y A,BandC
Page'(d of 35
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23. Alexrearried-outan-expermenttofind out whichrliquid-alfowed the—mesﬁ
amount.of light to.pass.through-it. The diagfam bélow shows the

experimental set-up.

glas's‘.-bféaker

light detector —

He fisted-otit some possible variablesforthe experiment:Which-one-of

the following is correct?

igpendent (Test) Variable -| DependentiMeas

‘ Distance of'_toréh from the

Amount of light detected by the light

Sensor. -

L surface of the liquid.
3) Type offiquid used.

Intensity of light shone from'_t_he
torch.

4) Distance of torch from the
L surface of the liquid.

Intensity of light shone from the
torch.

P4 Sc SA1 2011
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24.  Sita kept two animals in two separate tanks as shown in the diagram
below. Shewanted. {0 find-outifthe-animals.can supvive withoutair;

Rubber stopper

Container ———

"

Wire gauze

Container

— Fopd

Whieh-are the variables that she need to keep the same in grder to have a

fair teste”

A: The type of animals.

B: The amount of air given.
C: The material of the container.
D: The amount of food given.

() Aonly:

(2) B and C only
(3) B and D only.
{(4) A, Cand D only

25. Look at the picture of Animal A below.

Which one of thé following reasons explains why Animal A ési@Ezas

<mammal?

(1) If swims.

(2) It feeds its young with milk..
(3) it dees.nat have an outer covering of hair.

(4) it lives on land.

P4 Sc SA1 2011
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26. The table below provides information on the characteristics of 3 animals,

K,Land M.
i Animals -
Chamcterigﬁcs K L M
Have fur v .
Feed its young-.with milk v
Lays eggs v v
Live on land v
Classification Table
Animals
Mammals insects
Land Water Land Water
P Q R S |

Based on the table above, which grop, P, Q, R and S, in the

classification table would best represent: animals. K, L and M?

K L M
) Q R S
5] P Q R
(3) R s Q
(@) S P Q

" P4 Sc SA1 2011
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27. Ben saw some fish. He classified them into three groups A,BandC
according to their tails.

Tails of Fish

A B C

In which group will the fish below beltongs to?

(1) A only

(2) C only -

(3) Aand C only

(4) A, Band Conly’
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28. Alison found living thing X in her garden. She observed it for a week and
wrote down her obsetvations as shown below.

o X needs water.

o X does not move from place to place.
seasatitiakets - own food:
e Xcan reproduce

S

She then showed John her observations and he concluded irnmediately
thatliving thing X is a plant.

Which observation tells John that Living Thing X caritosly-Be a plant?

(1)1t

needs water..

(2) it can reproduce

(4) it does not move from place to place.

29. The flowchart below shows the characteristics of 4 plants, W, X, Y and Z.

Plants

Reproduce by
spores

= 1

|

_

L Reproduce by

seeds

f—iﬁ

hL¢=_-aves have | Leaves have Leaves have { eaves have

parallel veins _ net veins _ pérallel veins net veins
\"Y X Y Z

Sam saw 2 plants, A and B and recorded his observations below.
Characteristics Plant. "

. A =B

Produces flowers Yes No

Has parallel veins on leaves No Yes

Which plant, W, X, Y or Z could Sam group:Rart:Biwith?

(1w
@X.

)Y
“4Z

P4 Sc SA1 2011

Page(20-0f 35°




30. Arun went for a nature walk in a park and observed some leaves. He then
classified them as shown below.

Leaf V

in which group should he classify Leaf V?

(11

(2) 2

3)3

@4~ (

End of Booklet A
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HENRY PARK PRIMARY SCHOOL
2011 SEMESTRAL EXAMINATION 1

SCIENCE
PRIMARY 4
40
Name: ()
Class: Pr4 .
11 MAY 201
Booklet B (40 marks)

Write your answers to questions 31 to 44 in the spaces given.

31. Aisha placed a bal! of plasticine on a balance to measure its. mass. .She then
shaped the ball of plasticine into a cube. She measured the mass-of-the
plasticine again. The diagrams below show the results of her experiment.

Culosid
Ball of ptasticine ~Red-shaped plasticine
—
. : | /

L ||

50g 50g
weight weight

(a) From the experiment above, what was Aisha frying to-find out? {1m)

(b) If Aisha tries to change the shape of the plasticine from the cuboid shape (2m)
to a rod shape, will the mass of the plasticine change or remain the
same? Explain your answer.

T Page £2pf 35 -
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32. Farel observed three substances, X, Y and Z. He recorded his findings in the

tabie below.
Substance Takes up Has a definite | Can be seen | Fixed Volume
space shape
X v v v v
Y v X v v
z v X X X
(a) From his observation, which stbstance is in the solid state? (1m)

(b) State tworcharacteristics of the substance from the table above, to support  (7m)
your ahswer in (a).

(c) State one similarity between Substance Y and Z from Farel's findings. (1m)

P4 Sc SA1 2011
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33. Alice poured 40 cm® of water into a measuring cylinder. She then placed
object M into the measuring cylinder as shown in Diagram 1 below.

\ / 4
om? W and J
meaosuring L. 80 }-80
cylinder .70 +{ 70-
60— 5 1 Cork
50~ + o -
b o —f — —.—__> b —
:‘@'Jt_. 40 Er/
30~ 1 30— T
wot -20° 20
er —-
19 10
Diagram 1 Diagram 2
(a) Alice then added a.cork into the measuring cylinder as shown in (1m)
Diagram 2. What'is the volume of the cork?
(b) From this experiment, Alice made two conclusions about matter. (1m)

Put a tick (v') against the cerrect conclusion in the table below.

Conclusion Tick (v)
)] Water has no definite volume as the
level of water ge €n more
objects are added.
2) Water cannot be compressed and when
the objects are added, they take up.the
space occupied by water.
| i
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34) Henry carried out an experiment to investigate which file can absorb the most
heat. 4 tiles of the same size with different surfaces were used in the
experiment as shown below. A drop of ChemicalX was placed on each tile
before they were heated at a temperature of 70°C.

""""""

s || = = =

A | B c D

Chemical X

Chemical X is white at room temperature and its colour would change when
there is a change in temperature. The table below shows how the colour of
Chemical X changes.

Temperature Colour of Chemical X
30°Ct039°C white
40°Cto50° C yellow
51°Cto70°C orange
71°Ct080° C red J

After the tiles were heated for S minutes, Henry recorded his observations in
the table below.

Tile | Colourof Chemical X after 5 minutes
. A orange '
B white
Cc yeliow
D drange

a) Whichtile, A, B, C or D, should. Henry use on a roof so that the house (1m)
would not be hot during the day?

b) Explain your answer in (a). (1m)

¢) What should Henry do to find out which tile, A or D, absorbs mote heat? (1m)
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35) Trisha wants to find out which Material X, Y or Z is the best conductor of heat.
She prepares her setup as shown below.

Thermometer

Beaker

7/ 106t
waterat
~g06°C

//f7

Material X Material Z

Trisha placed the beakers omthe:same-tablerin thekitchen. She then took the
temperature of the water every 5 minutes for 30 minutes. She presented her
findings in a fable below:

Material Y

. Temperature of water.recorded at different intervals |
Time Interval =4 terial X Material Y Material Z
0 min 80 . 90 g0
5 min 88 “ 80 75
10 min 86 72 63
15 min 83 64 54
20 min 80 | 53 44

a) Whatis anether-variabltexthat she must keep the same throughout this

expefiment?

b) Trisha w'i;ﬁes t;) make a pouch for her water bottle to keep her drinks (1m)
cold for a long time. Which is the best material to make the pouch for the
water bottle?

c) Usingthe results fromr Trisha's experiment, explain your answer in (b). (1m)

) éage{ZGof 35 s
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d) What can Trisha do to ensure that the experiment is not affected by ‘heat  (1m)
loss to the surrounding air'?

36) Janet takes a few ice cubes from the freezer and immediately heats them in
a beaker over a.gas stove. After a while, she stops the heating and let the
beaker cool down to room temperature. The graph below shows the
temperature of the ice-cubes after Janet took them out from the freezer.

Temperature
o 1 .
100 -

80 -1_

40 -

mmmAa e, e e o

L L R N )

2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 Ime(min)

a) Name the process that is taking place along AB. (1m)

b) Atwhich point, A, B, C or D was the gas stove switched off? ' {(1m)

c) How long did Janet heat the ice cube before the temperature reached (im)
100°C? - - o
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37) ina hot air balloon, heat is used to expand the air in the balfloon which causes
the big balloon to inflate. When air in the balloon is heated, this hot air pushes
the balloon upwards into the sky.

Mike went to Taiwan and saw a Kong Ming Lantermn shown below in Diagram
B. Diagram A shows the parts of the Kong Ming Lantern.

Kong Ming

covered Lantern

rice paper
candle on
bamboo
sticks -
Diagram A Diagram B
a) What must Mike do to make the lantern lift and float in the air? (1m)

b) Using the information given, explain how the method mentioned in (a) will (Tm) ..
enable the lantern to lift and float in the air. '
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38) Study the set-up below.

a) In the box below, draw the shadow that will be observed on the screen.

saeen

b) Theunetal ball was removed and the metal cube was left in-the set-up.
Describe one action you would taike in order to make the shadow of the
cube larger. '

metal ball melal cube \
screen

(1m)

(1m)
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39) The picture below shows 3 children standing at various positions in a room
with 5 lamps. The lamps are turned off.

maswe. rvase -y, armnrw co——

Charles
a) Mark a “X” og one of the lampsto turm it on such that: (1m)
Alice has the longest shadow.

= Charles has the next fongest shadow.
=  Betty has the shortest shadow.

b) Name a property of light that allows shadows to be formed. (1m)

. Paga30)of 35
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40) A metal container is arranged in 2 different ways in between a light source
and a screen.

arrangement A
ctainer screen
arrangement B ﬂ
torch IE T
T screen
a)  State.one similarity between the shadows In arangement A and (1m)

arrangement B.

" Hscreen

ﬂscreen

b) Jack set up the above arrangements C and D ta investigate how the (2m)
distance betwéen the torch and_the container affects the size of the
shadow.

Is Jack’s setup in arrangement D correct? Explain your answer.
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41) The diagrams below shows objects A, B, C and D.

(a) The four objécts above can be classified into ONE group based on one (im)
similarity. What is the similarity?

(b) The four objects gI56 cande classified into two groups. Complete the table  (2m)
belpw (By:tllingrin:thedetters only) to show how they can be classified.
Wirite-alse-suitableheadings for the two groups.

Heading: Heading:

: Page\32: >f 35
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42) Sam found some animals in his garden. The two pictures below show how
Sam has classified them into two groups, X and Y.

Group X Group Y

(a) Based on the pictures above, statetwo differences between the animals in ~ (2m)
Group X and' Y. b

(b) In which group, X or Y, would you put Animal Z in? Give only ONE reasen  (2m)
for your answer.

Animal Z

: Page/33)of 35
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43. The flow chart below shows the characteristics of Plants P, Q, R and S.

[ Plants

1

Produces flowers? '

Is a water lar?’? -
No| — : Yes

Does it float? - _
No yYes
Kate observed a living thing, J, and recorded her observations in her science
journal.

¢ Jdoes not produce flowers.
¢ J grows on water.

a) Which plant, P, Q, R or S is J most likely to be?

(1m)

Kate found ancther plant K growing in her garden as shown below.

Pond water

Plant K

b) Which plant, P, Q, R or S can Plant K be grouped with?

(1m)

¢) Using information from the chart above; give two reasons for your answer

in (b).
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P4 Sc SA1 2011

=




44. Plants can be classified in many ways. One of the ways is to classify them

according to how they grow in water.

The picture below shows some water plants.

Water shamrock

Based on what you observe from the pictures, fifl in the rest of the names

of the plants in the correct columns in the table below.
Floating Plants Partially-submerged Fully-submerged
plants plants
Duckweed Elodea
End of Booklet B
Setters:
Mdm Fathlon Taufik
Mr Nelson Tong
Mr Ephrem Chong
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EXAM PAPER 2011

SCHOOL : HENRY PARK
SUBJECT : PRIMARY 4 SCIENCE

TERM : SA1

Q11 Q2 Q3 Q4| Q5106]Q71Q8 | Q9 |Q10|Q11;Q12[/Q13}Q14]|Q150Q16|Q17

4 3 3 2 1 4 3 3 1 2 | 3 i 4 2 2 2 3

Q181 Q19 [ Q20 | Q21 { Q22 | Q23 | Q24 [ Q25 | Q26 | Q27 | Q28 | Q29 | Q30
4 1 1 3 2 1 4 3 1 2 3 1 1

31)a)She was trying to find out whether the ball of plasticine when moulded mto a
different shape still has the same mass.

b)It will remain the same. Plasticine when moulded into a different shape still has
the same mass.

32)a)Substance X is in the solid state.
b)It has a definite shape and has a fixed volume.
c)Both of them takes up space.

33)a)10cma.
b)2

34)a)He should use tile B.

b)Tile B had the lowest temperature at the end of the experiment and, so it is the
poorest conductor of heat.

c)He should heat the tile at a higher temperature.

35)a)She should use the same type of thermometer to measure the temperature of
the water in the beaker.

b)Material X.,

c)Material X had the highest temperature after 20min, followed by Material Y,
then Material Z. Therefore, Material X is the worst conductor of heat among the three
material as it was able to keep the water the wan nest after twenty minutes so it will
also be able to keep the water the coldest among the three material.

d)She could cover each of the container with a rubber stopper.
36)a)The process of heat gaining. -
b)The gas stove switched off at point C.
c)She heated it for sixteen minutes.



37)a)He must light a small fire on the candle.

b)The fire will heated up the air and it will become hot and expands. The hot air
will rise but cannot escape as the lantern is covered. Eventually the Lantern will rise
and float in the air.

38)a)

b)I would move the metal cube nearer to the torch.

39)a)00X00
b)Light travels is a straight line.

40)a)They will have the same shape.

BONo, it is not. Jack should have everything the same except for the test variable
if it is the fair test. In this case, the test variable is the distance between the torch
and the container. Only that should be changed and nothing else but the screen in
arrangement D should be put at the same position as the screen in arrangement C.

41)a)All of them can fly.
b)Heading: Living things Heading: Non-living things
B A
D C

42)a)The animals in Group X have six legs while the animals in Group Y has eight
legs. The animals in Group X has three body parts while the animals in Group Y has
tow body parts.

b)I would put animal Z in Group X. All of them have six legs.

43)a)3l most likely is P.
b)It can be grouped with plant S.
o)t produced flowers and is a water plant and it floats.

44) Floating Plants | Partially-submerged plants | Fully-submerged plants

Duckweed Water shamrock Elodea

Water hyacinth Armmowhead Cabomba






